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4 2 25 32 700 38 19
1.3-x5-=—=x—==—=16—=16—

7 6 42 42 21

2 1 23 22 506 5
2.7-X3=-==x—=—=—=24—

3 7 7 21 21

3 12 48 576
3.12x5===x—=—=64
9 9 9

3 7 27 16 3 4 12
4. 6-x1-=—x—==x-=—=12

4 9 4 9 171 1

2 1 14 15 210
54 x2-=—x==—=10

3 7 3 7 21

2 3 2 14 33 30 7 11 5 385
6.4= x5-x7-=—x—=—x—=-xXx —x-=—7=192-=

3 6 4 3 6 4 15172 2

1 2 2 16 26 32 1 1 16 3328 7
7. 5-x4=x5- X—X—=—X—X—=—=41—

3 6 6 3 3 81 81

8 27 14 2 3 14
8. 2= x4=x3-=—-x—x—=-X-Xx — =84
3 6774 37 674 17171
1 2 2 10 8 14 10 2 7 140 5
9.3-x1-x2-=—xXx-X—=—Xx-x-=—=15=
3 6 6 3 767 6 3 7371 9 9
2 2 4 34 22 22 17 11 11 2057 17
10.4=x1—x3-=—X—X—=—X —X—=—=34—
8 10 6 8 T 107 6 47 5% 3 60 60



